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PRESTORMINGTM 2021
MOCK TEST 2

Consider the following statements about the term .Commodity supercycle., recently seen in the news:
1. Itisasustained period of abnormally strong demand growth that producers struggle to match.

2. ltis supported by population growth and infrastructure expansion in emerging markets.

3. It will spark an increase in commodity prices for a period of the shorter term.

Which of the statements given above are correct?

(@) 1 and 2 only (b) 2 and 3 only (c) 1 and 3 only (d)1,2and 3

In the context of economic reforms of India, the Narasimham committee is known for

1. the introduction of the Capital Adequacy Ratio for the Banking sector.

2. introducing a new concept of Priority Sector Lending in the Indian Banking sector.

3. introducing the concept of current account convertibility in India.

4. recommendation of Narrow banking.

Select the correct answer using the code given below.

(a) 1 and 2 only (b) 1 and 4 only (c) 2 and 4 only (d) 2and 3 only

The reductions in the Small Saving Interest Scheme, popularly known as Post Office Schemes, will
result in which of the following?

(a) The people will increase their investments into this Small Savings Scheme

(b) The liquidity will be drained from the Economy and channelized into this scheme

(c) The Government will get cheap money for the Public investment from this scheme

(d) The reduction in this scheme will automatically result in the increase of Repo rates in the banking sector
Consider the following pairs of Tunnels.

1. Atal Tunnel is built on the Leh-Manali Highway in Himachal Pradesh.

2. Nechiphu Tunnel is built on Srinagar and Kargil highway in Ladakh.

3. Chenani Nashri Tunnel is built on the Jammu — Sri Nagar highway in Jammu and Kashmir.

Which of the statements given above are correct?

(d) 1 and 2 only (b) 1 and 3 only (c) 2 and 3 only (d)1,2and 3
Which of the following is the deepest artificial port of India?
(a) Chennai (b) Tuticorin (c) Vishakapatanam (d) Mangalore

Consider the following statements about the Exclusive Economic Zone (EEZ) of India:

1. The EEZ is an area beyond and adjacent to the territorial sea.

2. The limit of the EEZ zone is two hundred nautical miles from the baseline.

3. EEZ of India includes the Lakshadweep island group in the Laccadive Sea and the Andaman and Nicobar
Islands.

4. Foreign countries are allowed to carry out all commercial and research activities, including fishing within
the EEZ.

Which of the statements given above are correct?

(@) 1, 2and 3 only (b) 1, 2 and 4 only (c) 1, 3and 4 only (d) 2, 3and 4 only

Consider the following statements about the Scheduled Tribes and Other Traditional Forest Dwellers

(Recognition of Forest Rights) Act, 2006:

1. It grants legal recognition to the rights of traditional forest-dwelling communities.

2. National Parks, Sanctuaries, Reserve Forest and Protected Forests are not included in the recognition of
Rights.

3. This Act defines =Critical wildlife habitats‘ as areas of National Parks and Wildlife Sanctuaries that are
kept aloof for wildlife conservation. Which of the statements given above is/are correct?

(@) 1 only (b) 1 and 2 only (c) 1 and 3 only (d) 2 and 3 only

The Central Pollution Control Board (CPCB) has developed a Comprehensive Environmental Pollution

Index (CEPI). This index captures the various dimensions of the environment. CEPI includes which of

the following dimensions?

1. Air Pollution 2. Ground Water and surface water Pollution

3. Soil Pollution 4. Noise Pollution

Select the correct answer using the code given below.

(a) 1 and 3 only (b) 1 and 2 only (c) 1, 2 and 3 only () 1,2,3and 4

Consider the following statements:

1. Pali and Prakrit were the spoken languages of Indians before the Vedic period.

2. Pali is a combination of various dialects.

3. All the Jain literature was written in Prakrit.

Which of the statements given above is/are correct?

(@) 1 and 3 only (b) 1 and 2 only (c) 2 only (d)1,2and 3



